
Page 1-20 2007 TransPorter 4 and 6 Gasoline and Electric Vehicle Illustrated Parts List

G
E

1

D

2

13

14

TYPICAL
2 PLACES

AT EACH FENDER

14
2

TYPICAL
2 PLACES

AT EACH FENDER

13

11
6

TYPICAL
2 PLACES

6
10

11
6

10

TYPICAL
2 PLACES

9

7
9

4

3

112 TYPICAL
2 PLACES

5

8
2 INCLUDED IN KIT,
BUT NOT USED IN
THIS APPLICATION

000268-001



E
G
1

2007 TransPorter 4 and 6 Gasoline and Electric Vehicle Illustrated Parts List Page 1-21

ITEM PART NO. DESCRIPTION

1    2    3    4

QTY

D

REAR BODY TRIM

1 1012285 Screw, 1/4 X 0.625 Hex-Head ............................................................................... 2
2 1014306 Washer, 1/4" Type B Flat ....................................................................................... 12
3 1015530 Tailskirt .................................................................................................................. 1
4 1016679 Rear Fender .......................................................................................................... 2
5 1017079 Kit, Rear Bumper (includes items 6 through 11) ................................................... 1
6 1011697 Washer, 5/16 Flat .............................................................................................. 6
7 1016379 Bumper, Rear .................................................................................................... 1
8 1016874 Plate, Bumper Mounting, Short ......................................................................... 2
9 1016875 Plate, Bumper Mounting, Long ......................................................................... 1
10 1016876 Bolt, 3/8 Shoulder ............................................................................................. 4
11 7473 Locknut, 5/16-18 Nylon Insert ........................................................................... 4
12 332 Washer, 1/4 Type A Narrow Flat ........................................................................... 2
13 7847 Screw, 1/4-20 X 0.75 Hex-Head Cap .................................................................... 8
14 8233 Locknut, 1/4-20 Nylon Insert ................................................................................. 8


